CET 12t Level (I*t Shift) Answer Key Dated : 05.02.2023

1.

10.

11.

12.

13.

14.

rsfta mieh arftor sl @«t &1 3gTes o=

(A) STTR (B) SR
(C) ggHTTTe (D) Gﬁ% [D]

Translate the following sentence into Hindi:

He called a taxi for me.

(A) 3T gzt et gy

(B) I& W foIq e el gers|

(C) T MR forg wes o=t amami

(D) 39 q3t U ot g [B]

ATSAR & A A T HE HTHYOT 41 §7

(A) ¥&g T (B) gEem 7

(C) R A (D) e [C]
# & fFaa 8-10-2022 & g R d

smatfSia fay Rtade Afdg=ia 7 sroen 25 af Ay

& sfar?

(A) dehar Srsart (B) e &

(C) anfeea dgar (D) HRE &ioRt [A]
s1ez, gTRFEATAEY @) oy Rar g-

(A) SRE] (B) I

(C) @z (D) 7=+ [B]
fra d grRT R 6t yuw FEERIRS g TRE I
&g g7

(A) SBI (B) PNB

(C) BOB (D) HDFC [D]
ST 1 Qehianvol et ==oil # gr1 gen?

(A) & (B) &1

(C) 88 (D) gr= [B]

fFa aue ad § oo & e Wl { ISy
qaTad HaTE gierr il aieon Si o2

(A) 2015-16 (B) 2014-15 _
(C) 2016-17 (D) 2013-14 [A]
TR 1 HE-a1 e sify and Serarg wéer &
w87

(A) FFer (B) SRR

(C) dferR (D) SrorR [A]
g arferareshl. @t Aide. i RERR, 20228
gaia favar s

AP=ffRad AR 3a @82
(A) SeEg (B) =9
(C) gwivg (D) gght [A]

uyrRa & #WRum & Fefef@a fFa sgeds
ISquTe hY AUY FHT AREY Ry mar g7

(A) 33T 155 (B) 3rgea% 158

(C) srg=ea 159 (D) 3r=eg 154 [C]
WRA & g T AT Hi a7 (18 Rawr, 2022
& 3ER)

(A) FiteT 3RRT (B) 3= wremTr TEa

(C) Gaftet = (D) Trsfta R [D]
Fr=faf@a 9 @ vaaa FRa o= Fa-ar @2

(A) TETEH (B) &far

(C) gaq, (D) TaIehR [A]
FreafefEa 9 @ Rra Reea F 9 e sz 87

(A) P, e, gy

(B) 4, Tt Qe

(C) AgWRid, a<arayT™, de-ay

(D) T shfa, dhaneft [D]

-

16.

17.
18.

19.

20.

21,
22,
23,
24,

25,

26.

ey awal A @ Red Rt offe widen & g

grsft qreenR far mar &2

(A) T S (B) o157 gemafar

(C) =it @rer svaft (D) AigAeTd R [D]
3Te3 1 I@9 & foheeh Aqe A FPranfea gam ur?
(A) Ta. Y. Hiekforan

(B) dt. &t @t

(C) &Y. g, s

(D) &t. T, arepuTeRR [A]
AT A 1 et &1

(A) ST (B) g

(C) famsta (D) Sy (]
s a7 &2 | |

(A) Siehst IR ufgdl  (B) geai sgRat

(C) Uk AR arefr arg (D) Qe offt gt [D]

g 4 forads sru=ras @ Uoehled AeaT 8, 98 &
(A) Ufeepet srgatamaTss

(B) TTSgIYeeh

(C) Qfcehet ATggTSE

(D) Sferer RS [C]
A= a1 @1 wraul gde srvrme @R U &1 IR

afsig

Y

gamo
cd; s000]

5%4000 o
000 |

E 2000 --1-
Z & 1000

Boys / 756

| Gicls / st

@it A aut € # & Renffat Ht §@n &1 srqura

(A) 2:3 (B) 1:2

(C) 1:1 (D) 3:2 [C]
Rorg goiR & =1 wey e @w € @2

(A) giehT {B) afefaret

(C) ferche D) Fedre [l

36ﬂua’fﬁqa;uﬁﬁgsu’fﬁm=ﬂmfhﬂ?ﬁﬁ?

(A) 35 (B) 36

(C) 39 (D) 33 [D]
74, fS9 ufYw svrer o1 2Mteh shgr ST 8, 98 &-

(A) sETg . (B) TUEh

(C) 578 9 IS =gt (D) amteR [D]
ekt Ha TATaE &1 ST Rl T UT?

(A) ST | (B) dieftem &

(C) TR | (D) g&raT & [D]

gt g aur IES FugEd o & 5
HFUT Y FEd 8-

(A) TqTdt Femor (B) gerst Hareor

(C) AZ HhT (D) uterur TepRor [B]
g AEY,_ & ) werae T4 @)

(A) som (B) HgHdl

(C) &t (D) Trerert [D]
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27,

28.

29.

30.

31.

32

33,

35.

36.

ST | IuTd wiargas 6 Pgfay & g P
7 & frass gy grmef &ar 87

(A) 7T #3iT 3R = =Amarery o1 q& =g

(B) 3= =rgTeig ot e =araTefiar ok faems wur ufauer
CAEGI

(C) ¥z w3il, I ATATeyd I H AmanEier R fQue
g1 7 ufager &1 Aar

(D) 7= At [C]
Frafaf@a § @ o9 a1 o & g w53l &1 ug
T8 8?7

(A) T faemre uRug @1 9ew

(B) T& w3t TR Tiafa & sreder

(C) TSI To" AT TN ahl 37e08]

(D) siaRfsa uRvest gesa [c
Choose the correct option.

The tone of a circular should:

(A) remain the same for any kind of audience

(B) be humorous

(C) be strict

(D) be different for different kinds of audience [A]
Aarz & 9 wgrRm & 999 Aoied 7 RSt f
3" G @ wen Rrarera e fsar manr?

(A) TRTUT 3R &g

(B) HERTOT ST e Terw

(C) wgRIoT 54 g

(D) HERIUT TaTg [B]
Frefaf@s fRfT s we 7 wad ge Bl oo/
ﬁwﬁ%aﬁﬁwmwm%’

(A) ST TRl

(B) |thg HehTT

(C) STt wremTar

(D) feremaik (VIBGYOR) [C]
U Be p ABGHE 24A=3/B=6£C dt £A, /Bauv
£C TN §- _

(A) 90°, 60°, 30° (B) 30°, 60°, 90°

(C) 90°, 45° 45° (D) 60°, 90°, 30° [A]
gfuzar Ve 3t wivee Rulé 2019 & sqar 3= weaf
(Fh= wf@a wer &) f de= sl a9 ax ufaa
A103FHE, TEE

(A) 6 (8)7

@8 (D)5 [*]
T & e fifas weu d gaen i ggifar
a2

(A) HeT 3RTE! (B) &faroft sRTaet

(C) grdtat R (D) I SRTaet (9]

Frefef@a § @ s9-a1 Ry s9qe @ seege &

&1 FR eFar 87

(A) fearga (B) d-ag

(C) AT3g (D) geraTet [A]
mawmﬁmwmﬁm
& Hay 7 arg= emef 34 -

(A) ISIUTE AT (B) SeRrga i

(C) I=F =TaTerd &l (D) 7= w3t it [A]

37,

38.

39.

40.

41.

42,

45,

46.

47.

48.

49,

T HIfNFY ot R & gawshal ok o= agd
gl & gyfea wadt €, 3 8-

(A) HaTg (B) wfg@T]

(C) afrent (D) T&mT] [A]
Convert the following indirect speech into
direct speech by choosing the correct option:
He inquired whether his name was not
Ahmed.

(A) He said to him, "Was not your name Ahmed?"
(B) He said, "Was not his name Ahmed?"

(C) He said to him, "Is not his name Ahmed?"

(D) He said to him, "Is not your name Ahmed?" [C]

ooy # A= ' T HEY §-
(A) §-8 Tarell & (B) TRIel Ige &
(O uem geR @ (D) RReaaffnd [D]

afe Tt 1 sitaa n? @ ok ¢t avg n demei @
3a m? 8, & (m+n) d&grat &1 ot 8-

(A) m-n (B) mn

(C) m/n (D) m+n [B]
Choose the correct antonym of the following
word from the options given:

Freedom

(A) cliberty (B)unchained

(C) independence (D) slavery [D]
Chase the correct preposition to fill in the

blanks Wathing! No unauthorized
personnel........... this point’

(A) of (B) beyond

(C) besides (D) since [B]

iETE wgaim #eA (TE.aien.) & R e &
Aorart 15-16 RawR, 2022 Fi fa a3 &#i of?

(A) FAREEH (B) asfiferzar.

(C) Ioafeheam (D) wIRd [c
Fill in the'blank with the appropriate article.
Bt ... ‘banana everyday to keep
yourself healthy.

(A) the (B) an

(C) zero article (D) a [D]

SRR adendigo R g @I d g &
ST T @ ST 87

(A) AgS (B) AgSO.

(C) Ag:2S (D) H2S [C]

= @E g & et @ ... Ofd @2 H
ZIUER T WIS IUSEe] heaTdl ST 87

(A)7 (B) 8

(C)12 (D)17 [B]

Choose the correct alternative for translation
of the technical term:

HIH

(A) practitioner (B) plotter

(C) supplement (D) backplane [A]
faehie g & o A=t & wrsd &gl oirelt 87

(A) Ramsfera A (B) dvgtet e

(C) 7T EfeagHed (D) fAvets v [A]
ANTS! Sl TSR & &= d atelt st
'3

(A) aferor afge (B) Iwr ufgdt

(C) SR gt (D) feyor gt [A]
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50.

51.

52.

a3,

54.

55.

56.

57.

58.

forew =t Bifew-

(A) ®=e (B) Rare

(C) Rarer (D) Tar [B]
weg a= e & sger A &3 J fhaw ufaee aw
&= g & r=fa g Tnfee?

(A) 20% (B) 9.32%

(C) 3.83% (D) 33% [D]

Read the following passage and answer the
question that follows, choosing the correct
option:

Recent research into antibiotic resistant bacterial
strains suggests the need for a re- examination of
the frequency with which doctors prescribe
antibacterial therapy. One study demonstrated, for
example, that most minor. bacterial infections will
resolve without treatment within 5 to 14 days of
the onset of symptoms; a course of antibiotics
might reduce that time frame by only 1 to 2 days. A
second study indicates that the incidents of
"superbugs”, which have resistance to a wide
variety of antibacterial agents, is increasing
significantly and that these bugsare more likely to
spread among those who have been treated with
antibiotics within the past’5 years.

The passage is primarily'concerned with

(A) explaining a change in the frequency with
which antibacterial therapy is prescribed.

(B) contrasting the views of doctors and medical
researchers with respect toprescribing drugs.

(C) questioning the routine prescription of
antibiotics for bacterial infections.

(D) discussing research into the symptoms of
bacterial infections [D]
FPr=faf@a d @ &= a1 g wika & gate aEaed &
ardiefta afder & | Basaar TafAd g 2

(A) Shad Gaenfag gareH! | dhtarg el

(B) @w 3R Il & wem faarel @ =g fAofa

(C) st & wen e evr =amer Rfas r

(D) Sart, sroxifdes gt @awunfes qeherl et  [D]
siflraniar Arorres Sfia it SifewR & SRorad & 2

daiia gl &1

(A) 71 HifEes anf & (B) 2 & wrea 4

(C) ug] &1 cafad & Hudh 9(D) g @ [A]
Frafaf@a d @ = ot sdfi=aaw uda sjgen @2

(A) SRTaet (B) Rrarferen

(C) o= (D) 3raTHaTE [B]

aifer ond Srerary wer & si=-ar e Qa8 82
(A) IR FasiisTTe (B) TSt

(C) arr (D) gt [A]
Change the voice of the following sentence
from the options given below :

Who teaches you such things?

(A) By whom you were taught such things?

(B) By whom are you taught such things?

(C) You were taught such things by whom?

(D) By who was you taught such things? [B]
Fr=faf@s 9 @ Wifds aReda s ar g2

(A) A=itfargs Raw &1 ag= (B) AiHe=IT T ST

(C) otk &1 forerern (D) <itg & ST e [C]

59.

60.

61.

62.

63.

65.

66.

67

68.

69.

PAeafaf@a § @ o SR ZRr1 9ifte ofa mid
w@hierig R UHfAe vafida <hm, 2021 &
fatwar & o 9@ 82

(A) 3T ThiY &1 IgT T & faenfial &) S faeaf
fasyfeemerat & sreog= & forg fo=fia weraan & g1

(B) 59 whm # =g7aw 33% T wefohdl & foig smrfara
gl

(C) 5= faenffal & siframaent & arfifes sy T8 ar@ @

F 8 ITF I TATBeRar 4 7 2
(D) gt giwon Iefg mdt & §=1 ffgw W 20-08-
2021 ot &Y 718 ot [B]

‘aifores @Iy Sflas 9@ &R a1 § O | SE-ar
fardrwor @2

(A) uReTUTETH (B) YA

(C) Turarad (D) Hehaaradh [A]

TR WER A g af F yorerm= v faga o
@1 UTa aeaert avafaal | aie Rar ur?

(A) 2007 (B) 1995

(C) 2000 (D) 2012 [C]

Ty & i A R g dar o gf@or & s fr
IR R F?

(A) ITEHR, SR, SRR Td TR

(B) SR, e, dhFR Ud TR

(C) TR, sfepy, SiEer R U4 STeiiR

(D) TR, iR, TR TF STSAR [A]
Windows # il &9 @ frdl} vz &t ge= & fAw
e ATEhe Goll ot Al gt 67

(A) Delete (B) Backspace

(C) F2 (D) Shift + Delete [D]
afoms g1

(A) Auret (B) SromiAEE

(C) =R (D) e [A]
TR qUEe ch ATg< Wil AT g1 S=iReT g T -
(A) FTeraE (B) araifax -1

(C) wratfax -10 (D) Tw=a - 2 [B]

amT gf® aret gan auws & fog Ree fig of s 22

(A) 2.5 cm (1) (B) 25 cm (3+)
(C) 2.5m {Tﬁ) {D) 25m(41) [B]
Who “was the first Indian to scale

Kanchenjunga in 1977 and is known as 'Snow
Tiger', who died recently in October, 20222

(A) Pankaj Kumar

(B) Umesh Zirpe

(C) Colonel Narendra Kumar

(D) Col. Prem Chand [D]
RdaaSFaaa @ 30% fx g RF aaa &
g A S & a7 A ufaa 8-
|
A) 23 — % B) 30%
(A) 3 o (B)
(C) 25% (D) 22%% [A]
wRa # iU get .............. § O WA 7
(A) IsuTehfeaeiT gereeR av
(B) IwuTahieEeiT th et
(C) uddg
(D) #rta &= [l
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70.

21,

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

Y & Fffawor & Igar Fefaf@a d @ sF
AEeHR & TeaTy Sl U e 8?2

(A) CAW (C) DB'w

(B) DA'W (D) EA'd [D]
STSTHR S & WYH H&g H3t dhi 477

(A) R 13 IuTeAT (B) gRretTet 2t

(C) ST IRTIT 4T (D) aTeT greot et [A]
ToreyT F vurae afafy & gaw -

(A) ser w9 & Faffaa gt &1

(B) T g1 &1

(C) T TRHR gRI g gid 8l

(D) weger =4 § faifaa gl &) [D]
S gdarigl ufa 8000 e @ &t =ifeat &
fareR or go arelt wyw wRdg Afgar @2

(A) firdepr mifga (B) DHeTdT SHIdTe

(C) AreTTaa guit (D) sr=fm =gt [A]
ffeaf@a d @ st sigumT werss dense | Ao
T8 &2

(A) =riéH (B) foree®

(C) U (D) TETew [C]
3RS Rt A 87

(A) SmqEoT (B) Mgl &l s

(C) st (D) SEeft [C]

fre Tgar d ot Rel@a R gaa fRdadt &
3@y s &2

(A) TOIRER (B) rettaT

(OEIGIEG (D) teftamT 18]
fFr=faf@a § @ ==t
22 F FH FA H

(A) 75t & (Merge Cells)
(B) ftret €=« (Fill Handle)
(C) ftheed (Filters)

(D) |ifé (Sorting) [c1
ASTEUT ST TR PR B 87

(A) GEHRRT &7 &l ot

(B) TR IuFH

(C) SRR g STl &3 a1 HgFd 3UushA

(D) Frft &= & e . [B]
5 It 3T & 2}E] Y SEeRE T SN AHTaT STTET
21 59 TR &= g1y h erad 82

(A) 10 &t (B) 15 &+t

(C) 20 &+t (D) 5 | [A]
Frcitara aradt ok AmRE w1 gus Fe=faf@a 9 |
fragfdf@ag?

e

(A) TRTIoT gt (B) Frreie gif

(C) aRmTE () (D) Rrcdtse [D]
cot* @—cosec’d ="

(A)1 (B) -1

Q2 (D)0 [B]

ges guur F fanelt awg X @1 wfafera Seer g awg & @1
a=ar g1 gdor &Y Ui 8-

(A) 3raae guoT (B) It gdor

(C) WRaeifle gdor (D) Hdw guur [A]
Aze & IER G FHawr davor & G gafy
i€} &1 AKOTIRSY STUTd ghI?

(A)1:2:1 (B9 3E34d

(€)15: 1 (D)3:1 [B]

ST 3TIeR! 39t ahfic 8§

85.

86.

87.

88.

89.

90.

1.

92.

93.

94.

95

96.

97.

............. & die1 gRT U gy St wmalt a9rd S

(B) HaFeAT
(C) &t (D) G [D]
ag faf@a &t gmila & avg &d &war § SR
Hfeas &1 HFMNHOT ASTAT &7
(A) fafm & (B) fazrfaa St
(C) A &, (D) farerfae [B]

e misht aEd AR TRA gt & oiafa aEd
Rl A fBFad Ra & R Y mRE & st 82

(A) 100 (B) 120

(C) 150 (D) 60 [A]
Frae e o Tt |fY RA=dg 82

(A) B + 32 (B) & + 3T

(C) e + & (D) * +d% [B]
‘Amendment’ & farg T# urinfier g &7

(A) Tgafd (B) SrgFite

(C) Garter (D) uRad=a [C]

WRA & TeheaTe [RuTeT ga i qrEan? f&star s
&, fo=ar 15 Faw=r, 2022 &t g g mar?
(A) TREsha [

(B) TR f&

(C) gaft T

(D) AT S1aTE 4 [D]

o fire & ASTEATT T I TUTT URAS

4

(A) TR (B) ST=™R

(C) Fler (D) SEeR [B]

Fe orgEu™ s a2

(A) s (B) STreile

(C) SR (D) ars®R § [A]

T HYUH i SiRRY

(A) mﬂ‘f&m-—ﬁq;asﬁﬂzmﬁéﬁl

(B) RIS ht Ueh Sigth oh ®U H UG fehdT ST Tk 1

(C) Fpree faege wanfga et aar 21

(D) A1se i et T gl gl [C]

= d @ =t arfefr =dt gt 87

(A) 2KI+C 1, 2KC1+1;

(B) Zn+MgSO.—» ZnSO,+Mg

(C)Mg+CuSO,—*»MgSO.+Cu

(D) Zn+FeSO.—» ZnSO,+Fe [B]
Bryger &Y oo o Fard &1 srquTa glar 82

(A) V3:2 (B) 2:1

€ +3:1 D) 2:+/3 (A]

CECTIC 2 SN dter Aaen Y wgfa & fsar srar

&

(A) FeehTEST (B) Jrsft

(C) ITeastt (D) TS [C]

TYWEE e § hl=HT IHIY 82

(A) FROT TegES (B) Hfdenvor Fegey

(C) TUEH dcgwy (D) 3MUTEH degEy [D]

DBMS # SET & SHiee g TUH I ygaH 399 H
St 87

(A) frerd g1t (Sequence data)

(B) Aereret (Metadata)

(C) fftsrer (Minidata)

(D) gaETeT (Subdata) [B]
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98.

99,

100.

101.

102.

103.

104.

105.

106.

107.

108.

1009.

110.

111.

IE arfior AR TRVE =R & AW a5E R
mgTedt with wedty urdtor AerTR TR s fBRar mar
(A) 2 srergarR, 2009 (B) 2 Sieger, 2008

(C) 2 srFgaR, 2010 (D) 2 3rergar, 2005 [A]
T IUTTR B2 H FF1E aUT 36! ST FH T arsg
&1 aqura 1:+/3 g, &t g @ =raur wtor &2

(A) 45° (B) 60°

(C) 90° (D) 30¢ [D]
e Qd AfFenl & 1200 =gfaeal &1 gk @3 ¢ 4@
AT &R ET &1 gaf U 15 R R g T gl

39 WE H FErl &l Hear 8?
(A) 75 (B) 80
(C) 85 (D) 72 [A]

19 S=h! Y oo dfery & w@er ardff ok @ 12 af aqur
TR A SR | 12 af @1 31 & " fva 3 82

(A)3 (B) 4

Q5 (D)2 [A]
Iead S &Y armar gt 82

(A) FUTTcHS (B) g4

(C) 3F=a (D) T THS [D]
=Y & = AT HETeR & wat A g2

INSCIEERS

(B) ErRTEE BT

(C) 3ifdp gHUg FEAT

(D) fa=1er & reror uee gHr (]
TieTa+ gl U Sl g2

(A) Saared

(B) st 7% Serr

(C) gvu e

(D) RoTyFsiik [B]
ASTEYT AT a7 fohersn Wi Feeeiiy &1 87

(A) g-faers (B) uw-fasrs

(C) Yen-drurg (D) e [A]
hTeh oh 3ehTdeh ehl Hehe e aTelT 24 Ael 87

(A) farzor (B) ez

(C) =T (D) g [A]

Tep AfA FryReT =aeT uR-25% aiftfes st ' @4
aul & 8,800 . g el &1 ufA (=ud ) s 27,

(A) 2,200 (B) 3,300

(C) 4,400 (D) 1,100 TC
oHeY 98 |, 5 dw Aifelq sifeex g wid @ a1 9=
Toge FRe wga R fve A gian, a@ saar fRR
YT ol Td: gl AFHE T H JI W Hehel 87

(A) Té TR (B) &8 wide

(C) 3 Ghid (D)aE ™ [D]
Fr=ifeha & & 199 g2res | Aoy | SaEeEn gl
&R IeEaH E?

(A) 2001-11 (B) 1971-81

(C) 1991-2001 (D) 1911-21 [B]
T dEan 7 Hifeg?

47 *38=8374,53*16=6135,20*%92="?

(A) 2902 (B) 2920

(C) 9220 (D) 1840 [A]

&g 99 g4 fher sheia R=fafea d @ fra @@=
4 grafaa &7
(A) frdpe
(€)=

(B) Fefiea
(D) st [B]

112.

113.

114.

115.
116.
117.

118.

118.

120«

121,

122.
123.

124.

125.

126.

foreft iem & amsTrw it o AgEw a1 W (Hiadw
a7 3rdR) F =aafa A Y uithar =t =g srar 872

(A) SHfeifther (B) Tifém

(C) freefim (D) sRfaim [B]
T HIEHT 7 & A ueda 720 . # ) o R 99
20% W qUT TEA R 20% g g, at sa &

QR W1 # e =it g1fwr ar & gam?
(A) 40 . a1 &TH (B) 40 ®. Fr g
(C) 60 =. Frgfx (D) 7 g1 7 &Yy [C]

‘B' TN Tt arerr aafary o= &R anf & =afaeat &t
& S @R Gl 8, 98 27

(A) B 3R O SR et &l (B) A 3R AB &feR gt &t
(C) B 3ilR AB ®f8R @i art (D) A 3k O ®feR amf @&l [C]
a2 fAme dar vorelt § YR & /T g 87

(A) 6 (B) 8

(C) 16 (D)2 [c1
dege-1 8O-

(A) 3he (B) 7&1d

(C) saRer €= (D) 9fER IuuE [C]
1919 & TSEYTH Va1 G T TUTYAT gl & g f1?
(A) auf (B) 31THR

(C) SR (D) farsitferar [A]

fFeafafes § @ daEd d frg drea & TumoEn
1921 ﬁmﬁnmﬁm%mﬁg
o

(A) Remrdar g (B) Sawmer

(C) AEEIE FSTHSE (D) ST GUR GE [*]

ark x=+——+ .? @ X 4+ 2x + 3w AEE?

() 3++2 (B) 4

(©) 0 (D) 2++2 [B]

DRDO & 3fezar &1 82 .

(A) . oora &g (B) =T. arrefte ot

(C) rsta= o1, g (D) TR ft, s D]
Coose the correct tense of the verb given in

the bracket.
Do you (speak) English?

(A) spoken (B) speak

(C) speaking (D) spoke [B]
Hieg) T @2

(A) S-<ht gRaT (B) gt b ada

(C) Tt & R (D) = & gfear [D]
&9 & SIaT 32T T18Y QH.QH. Qe |7 81 82

(A) S (B) &e

(C) e / ersn (D) 77z [B]
gfe ard &t AT @R far S SR TUR FH 20%
FH @ R o, &t Bryw & A gede ok By
& T4 St &1 U 87

(A)4:5 (B)5:8

(€)3:8 (D)2:3 [B]
What is the synonym of “Deform”?

(A) fashion (B) distort

(C) beautify (D) mould [B]

ofy At @ IAYR FHET AT |, IAYR H G FHgl
ST 8, UTAT H FEF FHET AT & 9YUT Fed &l
WigTer shgr e &, at fagr & Trorurt @ar 82

(A) TeT (B) *fturer

(C) @heh (D) =t [C]
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127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

af% g FreufRe vy d 3iwi 0, 1, 2, 3,4, 5,6, 7, 8,
9@t wwa: |, m, n, o, p, r, s, t, u ¥ ufdeuita Rear
T g 941 21 & mn fSr@r sar g, [(ro—qr)xnm]
at aRTER 87

(A)-qtu (B) -onp

(@) gtu (D) onp [D]
Sfed U Ay Iy I A & ... a4
&g =ararsfier 82

(A) 49 (B) 29

(C) 40 (D) 37

Qe U9 & e J 20% &' g & o<t &, aamﬂ:
e | g% 9 67

(A) 60% (B) 72.8%

(C) 80% (D) 20% [B]
RISTEUT WISV ehl TUTIT &l §57

(A) 2000 (B) 2002

(C) 2003 (D) 2001 [D]
&t Fragdrg deet i Brearsit & 2:3qu

STuTd
FaTEal a1 AUTEa 5 : 4 8, At ST deT & awh g
SR TYUT ATIA1 T HJUTH A 87
(A)5:9;5:6 (B)6:5;9:5
(€)9:5;6:5 (D) 546;5:9 [D]
Replace the underlined part of the following
sentence with one word from the options
given below:
She teaches the science of the life of plants.
(A) zoology (B) biology
(C) pathology (D) batany D]

o g{42”}?ﬂ i
(A) 2log 2 +log L + log m — log k
(B) log 4 —log I — log m— log k

(C) log 2+1log l—log m+log k

(D) log 4 +log ! +log m+log k [A]
29 (dhuga.ra.) gr 39 Al wt weafaa &
STt @ S sW AT & Afeae?

(A) ad RIS (B) 3% @A™

(C) TEFagtar (D) STaRity [B]
e & @ Far arge a= T & e gt SHTet?

(A) fRufRe (B) wifRer 3t

(C) Aitgeh et (D) uifafee s (]

TR Aved 7 Fa W & s sgdfd & Fam
nfearia frg?

(A) Tzt (B) |Hgt s

(C)Aex (D) i (]
WRA ¥ Ua aranaee fhaa adf @ du Igar 8?2

(A) 10 a9 (B) 15 @

(C) 20 o (D)5 af [C
Prafaf@a § @ st=ar g ux T8 82

(A) SRS (B) srfdrg=r

(C) amae=T ux (D) uRuz (]
ALY & uyH e smaht =1 sremel i ur?

(A) ST FHR T (B) safer femzor

(C) wTforeh < GRTom (D) ERretret agr [A]
512000 &1 975 82

(A) 60 (B) 70

(C) 80 (D) 50 [cl

141.

142.

143.

144.

145.

147.

148.

149.

150.

A
"

146.

TR & WU g & foar & 47
(A) ferrezrsT g (B) geRIS fgedta
(C) GRS o (D) T T [c]
ASY WHR & & Ao« d gong 33 & f@g
g 87
(A) HET=aTTETET (B) =gT iferaerr
(C) S =graTer™d (D) H=g =t [B]
0.064 x 6.25
= "™ FHIATAFATE?
0.081 x4.84
10 10
A B) —
(A) — 9 ( )99
(C)% (D) 9 [C]
A= d & s Y= TR & aSauTd & da9g J
e g?

(A) TsaUTer TfRGTerd & UHE ST & g g g
St foh ToTRyT uRnEiee et @ sifdert glar g1
(B) Twguret 1 wWidddig wferat @ o m Fofat Y
=rarerd # A 8] & ST Hehel |
(C) TTUTH I JIG8 & Used & faeg e &Y
iferr U A8l B
(D) TSTUTA ohl UMEAF Felddr JeH o= & o
AT T SR gl [D]
e d & st e dq @1 ey e 82

(B) difere=1

(D) Segeitst [D]
? fFa fAeen & siaaras dergad e
(A) =ie, sTseht

(B) 7, SR
(C) sreras, aivgan

(D) ugTs, A&Y [C]

o9 TuE # U e & a1e R R R T e

w4 ¥ femie gl 8, 99 &ed 87

(A) 3z (B) 3], eHES

(C) &iueT degey (DY &veRa [B]
A, B, C, 3R D & & 1=} 3% Apia &) TE gEg
amepfay &t adfor ofy 82

Main Figure / &g JTfa

é E
Answer Figures / IR HTgpfeaar

Al o
F| o[F
o[ M| @|£X

[A]
rer & @ e st g st & el =8 &7

A)

(A) SRTETST-IIT (B) ATYTER

(C) 78R (D) urer foreT arg [B]
araE A= d & g o e 82

(A) LAN (B) ROM

(C) WAN (D) RAM [B]
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